D1vISION WITH A REMAINDER II (H - SET 2)

DIVISION WITH A REMAINDER Name:
Time: Score: A
so - 19711 + 10 = 376) 22207 +5 =
362) 4886 <+ 4 = 371 55649 <+ 10 =
363) 22293 = 8 = 378) 6835 + 1 =
360 33005 + 5 = 3790 15056 + 9 =
365 26196 + 3 = 3500 45003 =5 =
306) 38147 + 9 = s 30111 =6 =
367 44656 =— 6 = 382) 21433 =7 =
369 19067 + 2 = 383) 19158 + 3 =
309 46937 + 10 = 381) 27825 + 8 =
370) 8956 + 9 = 39 6009 + 3 =
37 28662 + 3 = 356) 43881 =5 =
372) 135501 + 6 = w1 11139 = 2 =
313) 52017 + 6 = 388) 55788 + 10 =
37 29962 =6 = 39) 60056 = 8 =
37) 5914 + 2 = 300) 14276 +2 =
Mathematics: Division - Level § - Horizontal - Set 2 14 uluy
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